Inmate Statistical Profile

Under Death Sentence

Information within contains data on all offenders with Scribe Status of INMATE, including those Out To Court, Reprieves, Conditional Transfers, Escapes, etc

Produced for

General Distribution

Georgia Department of Corrections

Office of Information Technology
Data Management Section
01-NOV-23

Profile_death_row_2023_10.pdf

Table of Contents

Demogra	phic information
4	Current age, broken out in ten year age groups
5	Race group
6	Marital status, self-reported at entry to prison
7	Number of Inmates with Dependents, self-reported at entry to prison
8	Religious affiliation, self-reported at entry to prison
9	Home county - self-reported at entry to prison
10	Employment status before prison, self-reported at entry to prison
11	Age at admission
12	Height, measured at entry to prison
13	Weight, measured at entry to prison
14	Military service
Correction	onal information
15	Type of admission to prison
	Current / last supervision level
17	Current / last institution type
18	Institution type - transitional centers
19	Institution type - county prisons
20	Institution type - state prisons
21	Institution type - private prisons
22	Institution type - inmate boot camp
23	Number of disciplinary reports
24	Number of transfers
25	Time served in current (or last) institution
Educatio	nal, psychological and physical information
26	Highest grade level attained
27	Culture fair IQ scores
28	Wide Range Achievement Test (WRAT) reading score
29	Wide Range Achievement Test (WRAT) math score
30	Wide Range Achievement Test (WRAT) spelling score
31	Current / last mental health treatment level

Under Death Sentence

Produced for General Distribution

Table of Contents

Educatio	nal, psychological and physical information
32	PULHESDWIT medical scale - 'P' overall condition ('P'hysical)
33	PULHESDWIT medical scale - 'U' upper body
34	PULHESDWIT medical scale - 'L' lower body
35	PULHESDWIT medical scale - 'H' hearing
36	PULHESDWIT medical scale - 'E' vision
37	PULHESDWIT medical scale -'S' psychiatric
38	PULHESDWIT medical scale - 'D' dental
39	PULHESDWIT medical scale - 'W' work ability
40	PULHESDWIT medical scale - 'I' impairment
41	PULHESDWIT medical scale - 'T' transportability
Crimes a	nd criminal history information
42	Number of prior Georgia incarcerations
43	Prison sentence in years
44	Primary offense, broken out into felonies vs misdemeanors
45	Primary offense, broken out into six broad crime categories
	Primary offense, detailed offense code
47	County of conviction of primary offense
48	Circuit of conviction of primary offense
49	Years served (jail + prison) in this incarceration
Medical i	nformation
50	Results of most recent HIV test
51	Results of most recent tuberculosis test
52	Results of most recent syphilis test
53	Results of most recent Hepatitis-C test

Under Death Sentence

Produced for **General Distribution**

Current age, broken out in ten-year age groups

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
Current Age	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Thirties (30-39)	1	2.70%	100.00%				1	2.63%
Forties (40-49)	12	32.43%	92.31%	1	100.00%	7.69%	13	34.21%
Fifties (50-59)	13	35.14%	100.00%				13	34.21%
Sixties (60-69)	9	24.32%	100.00%				9	23.68%
Seventy + (70 and above)	2	5.41%	100.00%				2	5.26%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mean (average)	53.92	40	53.55
Median (middle)	52	40	51.5
Mode (most frequent)	46	40	46

Inmate Statistical Profile 01-NOV-23 Page 5

Under Death Sentence

Produced for **General Distribution**

Race group

COL % - percent each COUNT is of its particular column

		Male			Female			Total	
Race Group	Count	Col %	Row %	Count	Col %	Row %	Total	Col %	
1 White	17	45.95%	100.00%				17	44.74%	
2 Black	18	48.65%	94.74%	1	100.00%	5.26%	19	50.00%	
10 Hispanic	2	5.41%	100.00%				2	5.26%	
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%	

Not Reported	0	0	0
Grand Total	37	1	38

Mode (most frequent)	Black	Black	Black

Under Death Sentence

Produced for **General Distribution**

Marital status, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

	Male		Female			Total		
Marital Status	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0 Unknown	4	10.81%	100.00%				4	10.53%
D Divorced	7	18.92%	100.00%				7	18.42%
M Married	4	10.81%	80.00%	1	100.00%	20.00%	5	13.16%
S Separated	1	2.70%	100.00%				1	2.63%
U Unmarried	21	56.76%	100.00%				21	55.26%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

				_
Mode (most frequent)	Unmarried	Married	Unmarried	1

Inmate Statistical Profile 01-NOV-23 Page 7

Under Death Sentence

Produced for **General Distribution**

Number of Inmates with Dependents, Self-Reported at Entry to Prison

COL % - percent each COUNT is of its particular column

	Male				Female	Total		
Number of dependents	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0	1	33.33%	50.00%	1	100.00%	50.00%	2	50.00%
1	1	33.33%	100.00%				1	25.00%
4	1	33.33%	100.00%				1	25.00%
Total Reported	3	100%	75.00%	1	100%	25.00%	4	100%
Total Reported	3	10070	7 3.00 /0	•	10070	23.00 /0		100

Not Reported	34	0	34
Grand Total	37	1	38

Mean (average)	1.67		1.25
Median (middle)	1	0	.5
Mode (most frequent)	1	0	0

Inmate Statistical Profile 01-NOV-23 Page 8

Under Death Sentence

Produced for **General Distribution**

Religious affiliation, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

			Male			Female		To	tal
Religious Affiliation		Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1	Islam	2	6.45%	100.00%				2	6.25%
2	Catholic	3	9.68%	100.00%				3	9.38%
3	Baptist	17	54.84%	94.44%	1	100.00%	5.56%	18	56.25%
7	Church Of God	2	6.45%	100.00%				2	6.25%
9	Jewish	1	3.23%	100.00%				1	3.13%
17	Jehovah Witness	1	3.23%	100.00%				1	3.13%
20	Other Prot	4	12.90%	100.00%				4	12.50%
96	None	1	3.23%	100.00%				1	3.13%
Total I	Reported	31	100%	96.88%	1	100%	3.13%	32	100%

Not Reported	6	0	6
Grand Total	37	1	38

Made (made frequent)	Dontint	Dontint	Dontint
Mode (most frequent)	Baptist	Baptist	Baptist I
(1110 010 (1110 01110)		In	

Inmate Statistical Profile 01-NOV-23 Page 9

Under Death Sentence

Produced for **General Distribution**

Home county, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
Home County	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
000 Unknown	12	32.43%	100.00%				12	31.58%
001 Appling County	1	2.70%	100.00%				1	2.63%
003 Bacon County	1	2.70%	100.00%				1	2.63%
005 Baldwin County	1	2.70%	100.00%				1	2.63%
017 Burke County	1	2.70%	100.00%				1	2.63%
018 Butts County	1	2.70%	100.00%				1	2.63%
025 Chatham County	3	8.11%	100.00%				3	7.89%
031 Clayton County	2	5.41%	100.00%				2	5.26%
044 Dekalb County	2	5.41%	100.00%				2	5.26%
052 Elbert County	1	2.70%	100.00%				1	2.63%
057 Floyd County	2	5.41%	100.00%				2	5.26%
060 Fulton County	3	8.11%	100.00%				3	7.89%
063 Glynn County	1	2.70%	100.00%				1	2.63%
067 Gwinnett County	1	2.70%	50.00%	1	100.00%	50.00%	2	5.26%
106 Muscogee County	1	2.70%	100.00%				1	2.63%
126 Spalding County	1	2.70%	100.00%				1	2.63%
148 Ware County	2	5.41%	100.00%				2	5.26%
999 Other Custody/Out Of	1	2.70%	100.00%				1	2.63%
State		40001	0= 0=s/		40001	0.005/		40001
Total Rported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mode (most frequent)	Fulton County	Gwinnett County	Fulton County

Inmate Statistical Profile 01-NOV-23 Georgia Dept of Corrections

Under Death Sentence

Produced for **General Distribution**

Employment status before prison, self-reported at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
Employment Status	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
01 Full Time	5	20.00%	100.00%				5	20.00%
02 Part Time	2	8.00%	100.00%				2	8.00%
03 Unempl < 6M	9	36.00%	100.00%				9	36.00%
04 Unempl > 6M	4	16.00%	100.00%				4	16.00%
05 Never Worked	4	16.00%	100.00%				4	16.00%
07 Incapable	1	4.00%	100.00%				1	4.00%
Total Reported	25	100%	100%			%	25	100%

Not Reported	12	1	13
Grand Total	37	1	38

Λ	Mode (most frequent)	Unempl < 6M	Null	Unempl < 6M

Under Death Sentence

Produced for **General Distribution**

Age at admission

COL % - percent each COUNT is of its particular column

		Male			Female		То	tal
Age At Admission	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
21	3	8.11%	100.00%				3	7.89%
22	5	13.51%	100.00%				5	13.16%
23	1	2.70%	100.00%				1	2.63%
24	3	8.11%	100.00%				3	7.89%
25	1	2.70%	100.00%				1	2.63%
26	3	8.11%	100.00%				3	7.89%
28	3	8.11%	100.00%				3	7.89%
30	1	2.70%	100.00%				1	2.63%
31	3	8.11%	100.00%				3	7.89%
32	2	5.41%	100.00%				2	5.26%
34	1	2.70%	100.00%				1	2.63%
35	2	5.41%	66.67%	1	100.00%	33.33%	3	7.89%
36	2	5.41%	100.00%				2	5.26%
37	1	2.70%	100.00%				1	2.63%
38	1	2.70%	100.00%				1	2.63%
40	1	2.70%	100.00%				1	2.63%
44	1	2.70%	100.00%				1	2.63%
52	1	2.70%	100.00%				1	2.63%
59	1	2.70%	100.00%				1	2.63%
62	1	2.70%	100.00%				1	2.63%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mean (average)	31.08	35	31.18
Median (middle)	28	35	29
Mode (most frequent)	22	35	22

Under Death Sentence

Produced for **General Distribution**

Height, measured at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Height	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
5'04"	1	2.70%	50.00%	1	100.00%	50.00%	2	5.26%
5'05"	1	2.70%	100.00%				1	2.63%
5'06"	4	10.81%	100.00%				4	10.53%
5'07"	4	10.81%	100.00%				4	10.53%
5'08"	3	8.11%	100.00%				3	7.89%
5'09"	4	10.81%	100.00%				4	10.53%
5'10"	2	5.41%	100.00%				2	5.26%
5'11"	4	10.81%	100.00%				4	10.53%
6'00"	7	18.92%	100.00%				7	18.42%
6'01"	2	5.41%	100.00%				2	5.26%
6'02"	2	5.41%	100.00%				2	5.26%
6'03"	2	5.41%	100.00%				2	5.26%
6'10"	1	2.70%	100.00%				1	2.63%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mean (average)	5'10"	5'04"	5'10"
Mode (most frequent)	6'00"	5'04"	6'00"

Under Death Sentence

Produced for **General Distribution**

Weight, measured at entry to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
Weight	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
110 - 119 pounds	1	2.70%	100.00%				1	2.63%
120 - 129 pounds	1	2.70%	100.00%				1	2.63%
140 - 149 pounds	1	2.70%	50.00%	1	100.00%	50.00%	2	5.26%
150 - 159 pounds	5	13.51%	100.00%				5	13.16%
160 - 169 pounds	4	10.81%	100.00%				4	10.53%
170 - 179 pounds	5	13.51%	100.00%				5	13.16%
180 - 189 pounds	2	5.41%	100.00%				2	5.26%
190 - 199 pounds	3	8.11%	100.00%				3	7.89%
200 - 209 pounds	3	8.11%	100.00%				3	7.89%
210 - 219 pounds	1	2.70%	100.00%				1	2.63%
220 - 229 pounds	4	10.81%	100.00%				4	10.53%
230 - 239 pounds	1	2.70%	100.00%				1	2.63%
250 - 259 pounds	2	5.41%	100.00%				2	5.26%
260 - 269 pounds	2	5.41%	100.00%				2	5.26%
270 - 279 pounds	1	2.70%	100.00%				1	2.63%
370 - 379 pounds	1	2.70%	100.00%				1	2.63%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%
Not Reported		0			0			0
Grand Total		37			1		3	38

Mean (average)	196	145	195
Median (middle)	189	145	186.5
Mode (most frequent)	220	145	220

Inmate Statistical Profile 01-NOV-23 Page 14

Under Death Sentence

Produced for **General Distribution**

Veterans validated by Veteran's Administration

COL % - percent each COUNT is of its particular column

			Male			Female		To	otal
Milita	ry service	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0	Others	1	33.33%	100.00%				1	33.33%
1	Air Force	1	33.33%	100.00%				1	33.33%
4	Marines	1	33.33%	100.00%				1	33.33%
Total	Reported	3	100%	100.00%			.00%	3	100%

Not Reported	34	1	35
Grand Total	37	1	38

Mode (most frequent)	Others	Null	Others

Inmate Statistical Profile 01-NOV-23 Page 15

Under Death Sentence

Produced for **General Distribution**

Type of admission to prison

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Type of Admission	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
52 New Sentence	37	100.00%	97.37%	1	100.00%	2.63%	38	100.00%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

	N. O. A	N 0 4	h. o .
Mode (most frequent)	New Sentence	New Sentence	New Sentence

Inmate Statistical Profile 01-NOV-23 Page 16

Under Death Sentence

Produced for **General Distribution**

Current / last supervision level

COL % - percent each COUNT is of its particular column

	Male			Female			Total		
Security Status	Count	Col %	Row %	Count	Col %	Row %	Total	Col %	
5 Close	37	100.00%	97.37%	1	100.00%	2.63%	38	100.00%	
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%	

Still being diagnosed	0	0	0
Not Reported	0	0	0
Grand Total	37	1	38

Mode (most frequent)	Close	Close	Close

Inmate Statistical Profile 01-NOV-23 Page 17

Under Death Sentence

Produced for **General Distribution**

Current / last type of institution

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
Type of Institution	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
State Prison	37	100.00%	97.37%	1	100.00%	2.63%	38	100.00%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

	_		
Mode (most frequent)	State Prison	State Prison	State Prison

Inmate Statistical Profile 01-NOV-23 Page 18

Under Death Sentence

Produced for **General Distribution**

Institution type - transitional centers

COL % - percent each COUNT is of its particular column

	Male				Female	Total		
Institution Type - Trans. Centers	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Total Reported								

Not Reported	0	0	0
Grand Total			

Mode (most frequent)	Null	Null	Null

Inmate Statistical Profile 01-NOV-23 Page 19

Under Death Sentence

Produced for **General Distribution**

Institution type - county prisons

COL % - percent each COUNT is of its particular column ROW % - percent each COUNT is of its particular row

	Male			Female		Total	
Count	Col %	Row %	Count	Col %	Row %	Total	Col %
	0		0			0	
					_		
		Null			Null	Nu	II
	Count		0		0 0	0 0	0 0 0

Inmate Statistical Profile 01-NOV-23 Page 20 Georgia Dept of Corrections

Under Death Sentence

Produced for **General Distribution**

Institution type - state prisons

COL % - percent each COUNT is of its particular column

ROW % - percent each COUNT is of its particular row

	Male				Female	Total			
Institution Type - State Prisons	Count	Col %	Row %	Count	Col %	Row %	Total	Col %	
Arrendale State Prison				1	100.00%	100.00%	1	2.63%	
Augusta State Med. Prison	1	2.70%	100.00%				1	2.63%	
Ga Diag Class Prison	36	97.30%	100.00%				36	94.74%	
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%	
Not Reported		0		0			0		
Grand Total	37			1			38		
Mode (most frequent)	Ga Diag Class Prison			Arrendale State Prison			Ga Diag Class Prison		

Inmate Statistical Profile 01-NOV-23 Page 21

Under Death Sentence

Produced for **General Distribution**

Institution type - private prisons

COL % - percent each COUNT is of its particular column

	Male			Female			Total	
Institution Type - Private Prisons	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Total Reported								

Not Reported	0	0	0
Grand Total			

Mode (most frequent)	Null	Null	Null

Inmate Statistical Profile 01-NOV-23 Page 22

Under Death Sentence

Produced for **General Distribution**

Institution type - inmate boot camp

COL % - percent each COUNT is of its particular column

		Male			Female			Total	
Institution Type - Boot Camps	Count Col %		Row %	Count Col %		Row %	Total	Col %	
Total Rported									
Not Reported		0			0			0	

Mode (most frequent)	Null	Null	Null

Inmate Statistical Profile 01-NOV-23 Page 23

Under Death Sentence

Produced for **General Distribution**

Number of disciplinary reports

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Number of Disciplinary Reports	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0	3	8.11%	75.00%	1	100.00%	25.00%	4	10.53%
1	1	2.70%	100.00%				1	2.63%
2	3	8.11%	100.00%				3	7.89%
3	2	5.41%	100.00%				2	5.26%
4	6	16.22%	100.00%				6	15.79%
5	3	8.11%	100.00%				3	7.89%
More Than 5	19	51.35%	100.00%				19	50.00%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mean (average)	13.70		13.34
Median (middle)	6	0	5.5
Mode (most frequent)	4	0	4

Inmate Statistical Profile 01-NOV-23 Page 24

Under Death Sentence

Produced for **General Distribution**

Number of transfers

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Number of Transfers	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0	18	48.65%	94.74%	1	100.00%	5.26%	19	50.00%
1	3	8.11%	100.00%				3	7.89%
2	4	10.81%	100.00%				4	10.53%
3	2	5.41%	100.00%				2	5.26%
4	5	13.51%	100.00%				5	13.16%
5	1	2.70%	100.00%				1	2.63%
More Than 5	4	10.81%	100.00%				4	10.53%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mean (average)	1.89		1.84
Median (middle)	1	0	.5
Mode (most frequent)	0	0	0

Under Death Sentence

Produced for **General Distribution**

Time served in current (or last) institution

COL % - percent each COUNT is of its particular column

		Male			Female		T	otal
Time In Institution	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0 to 3 months	2	5.41%	100.00%				2	5.26%
18.01 to 24 months	1	2.70%	100.00%				1	2.63%
2.01 to 3 years	3	8.11%	100.00%				3	7.89%
3.01 to 4 years	1	2.70%	100.00%				1	2.63%
4.01 to 5 years	2	5.41%	66.67%	1	100.00%	33.33%	3	7.89%
5.01 to 6 years	1	2.70%	100.00%				1	2.63%
6.01 to 7 years	3	8.11%	100.00%				3	7.89%
Over 10 years	24	64.86%	100.00%				24	63.16%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mean (average)	181 months	54 months	177 months
Median (middle)	186 months	54 months	185 months
Mode (most frequent)	0 months	2 months	1 months

Inmate Statistical Profile 01-NOV-23 Page 26

Under Death Sentence

Produced for **General Distribution**

Highest grade level attained

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Grade Level	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Grade 6	2	6.06%	100.00%				2	5.88%
Grade 7	5	15.15%	100.00%				5	14.71%
Grade 8	3	9.09%	100.00%				3	8.82%
Grade 9	3	9.09%	100.00%				3	8.82%
Grade 10	7	21.21%	100.00%				7	20.59%
Grade 11	5	15.15%	100.00%				5	14.71%
Grade 12 or GED	3	9.09%	100.00%				3	8.82%
Some tech school	1	3.03%	100.00%				1	2.94%
College, 2 year	3	9.09%	100.00%				3	8.82%
Bachelor's degree	1	3.03%	50.00%	1	100.00%	50.00%	2	5.88%
Total Reported	33	100%	97.06%	1	100%	2.94%	34	100%

Not Reported	4	0	4
Grand Total	37	1	38

Mean (average)	10	16	10.18	
Median (middle)	Grade 10	Bachelor's degree	Grade 10	
Mode (most frequent)	Grade 10	Bachelor's degree	Grade 10	

Inmate Statistical Profile 01-NOV-23 Page 27

Under Death Sentence

Produced for **General Distribution**

Culture fair IQ scores

COL % - percent each COUNT is of its particular column

	Male		Female			Total		
IQ Scores	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
70 - 79	1	14.29%	100.00%				1	14.29%
80 - 89	1	14.29%	100.00%				1	14.29%
90 - 99	2	28.57%	100.00%				2	28.57%
110 - 119	1	14.29%	100.00%				1	14.29%
120 - 129	2	28.57%	100.00%				2	28.57%
Total Reported	7	100%	100.00%			0.00%	7	100.0%

Not Reported	30	1	31
Not Valid (under 60)	0	0	0
Grand Total	37	1	38

Mean (average)	101		101
Median (middle)	91		91
Mode (most frequent)	87	0	87

Georgia Dept of Corrections Inmate Statistical Profile 01-NOV-23 Page 28

Under Death Sentence

Produced for **General Distribution**

Wide Range Achievement Test (WRAT) reading score

COL % - percent each COUNT is of its particular column

		Male			Female		Te	otal
WRAT Reading Score	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
4.0 to 4.9	1	12.50%	100.00%				1	12.50%
5.0 to 5.9	1	12.50%	100.00%				1	12.50%
7.0 to 7.9	2	25.00%	100.00%				2	25.00%
9.0 to 9.9	1	12.50%	100.00%				1	12.50%
11.0 to 11.9	1	12.50%	100.00%				1	12.50%
12.0 to 12.9	2	25.00%	100.00%				2	25.00%
Total Reported	8	100%	100.00%			0.00%	8	100%

Not Reported	29	1	30
Grand Total	37	1	38

Mean (average)	8.98		8.98
Median (middle)	8.5		8.5
Mode (most frequent)	12.8	0	12.8

Inmate Statistical Profile 01-NOV-23 Georgia Dept of Corrections

Under Death Sentence

Produced for **General Distribution**

Wide Range Achievement Test (WRAT) math score

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
WRAT Mathematic Score	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
3.0 to 3.9	1	12.50%	100.00%				1	12.50%
4.0 to 4.9	1	12.50%	100.00%				1	12.50%
6.0 to 6.9	1	12.50%	100.00%				1	12.50%
7.0 to 7.9	1	12.50%	100.00%				1	12.50%
10.0 to 10.9	2	25.00%	100.00%				2	25.00%
11.0 to 11.9	2	25.00%	100.00%				2	25.00%
Total Reported	8	100%	100.00%			0.00%	8	100%

Not Reported	29	1	30
Grand Total	37	1	38

Mean (average)	8.28		8.28
Median (middle)	9.15		9.15
Mode (most frequent)	10.5	0	10.5

Under Death Sentence

Produced for **General Distribution**

Page 30

Wide Range Achievement Test (WRAT) spelling score

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
WRAT Spelling Score	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
3.0 to 3.9	1	12.50%	100.00%				1	12.50%
4.0 to 4.9	1	12.50%	100.00%				1	12.50%
5.0 to 5.9	1	12.50%	100.00%				1	12.50%
8.0 to 8.9	1	12.50%	100.00%				1	12.50%
12.0 to 12.9	4	50.00%	100.00%				4	50.00%
Total Reported	8	100%	100.00%			0.00%	8	100%

Not Reported	29	1	30
Grand Total	37	1	38

Mean (average)	9.1		9.1
Median (middle)	10.5		10.5
Mode (most frequent)	12.8	0	12.8

Georgia Dept of Corrections Inmate Statistical Profile 01-NOV-23 Page 31

Under Death Sentence

Produced for **General Distribution**

Current / last mental health treatment level

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Mental Health Treatment Lev	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 No problem at current time	9	33.33%	100.00%				9	32.14%
2 Receiving outpatient treatment	17	62.96%	94.44%	1	100.00%	5.56%	18	64.29%
3 Inpatient, moderate	1	3.70%	100.00%				1	3.57%
Total Evaluated	27	100%	96.43%	1	100%	3.57%	28	100%

Never had MH evaluation	10	0	10
Grand Total	37	1	38

Median (middle)	Receiving outpatient treatment	Receiving outpatient treatment	Receiving outpatient treatment
Mode (most frequent)	Receiving outpatient treatment	Receiving outpatient treatment	Receiving outpatient treatment

Page 32

Under Death Sentence

Produced for **General Distribution**

PULHESDWIT medical scale - 'P' overall condition ('P'hysical)

COL % - percent each COUNT is of its particular column

		Male			Female)	To	tal
'P' Overall Condition	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 No medical illness	11	35.48%	100.00%				11	34.38%
2 Well-controlled chronic	19	61.29%	95.00%	1	100.00%	5.00%	20	62.50%
illness								
3 Poorly-controlled chronic	1	3.23%	100.00%				1	3.13%
illness								
Total Reported	31	100%	96.88%	1	100%	3.13%	32	100.0%

Not Reported	6	0	6
Grand Total	37	1	38

Mode	(most frequent)	2 Well-controlled chronic	2 Well-controlled chronic	2 Well-controlled
		illness	illness	chronic illness

Page 33

Under Death Sentence

Produced for **General Distribution**

PULHESDWIT medical scale - 'U' upper body

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'U' Upper Body	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Upper bones, joints,	29	93.55%	96.67%	1	100.00%	3.33%	30	93.75%
muscles all OK								
2 One or both arms minimally	2	6.45%	100.00%				2	6.25%
limited		•			•			
Total Reported	31	100%	96.88%	1	100%	3.13%	32	100%

Not Reported	6	0	6
Grand Total	37	1	38

Mode	(most frequent)	1 Upper bones, joints, muscles all OK	1 Upper bones, joints, muscles all OK	1 Upper bones, joints, muscles all OK

Produced for **General Distribution**

Page 34

Under Death Sentence

PULHESDWIT medical scale - 'L' lower body

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'L' Lower Body	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Lower bones, joints,	26	83.87%	96.30%	1	100.00%	3.70%	27	84.38%
muscles all OK								
2 One or both legs minimally	4	12.90%	100.00%				4	12.50%
limited		•			•			
3 One or both legs	1	3.23%	100.00%				1	3.13%
moderately limited								
Total Reported	31	100%	96.88%	1	100%	3.13%	32	100.0%

Not Reported	6	0	6
Grand Total	37	1	38

Mode	(most frequent)	1 Lower bones, joints, muscles all OK	1 Lower bones, joints, muscles all OK	1 Lower bones, joints, muscles all OK

Under Death Sentence

Produced for **General Distribution**

PULHESDWIT medical scale - 'H' hearing

COL % - percent each COUNT is of its particular column

		Male			Female		То	tal
'H' Hearing	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Normal hearing both ears	30	96.77%	96.77%	1	100.00%	3.23%	31	96.88%
2 Some loss in one ear with	1	3.23%	100.00%				1	3.13%
other OK, or mild loss in both		•			•			
Total Reported	31	100%	96.88%	1	100%	3.13%	32	100.0%

Not Reported	6	0	6
Grand Total	37	1	38

Mode	(most frequent)	1 Normal hearing both ears	1 Normal hearing both ears	1 Normal hearing both ears

Under Death Sentence

Produced for **General Distribution**

Page 36

PULHESDWIT medical scale - 'E' vision

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'E' Vision	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Correctable to 20/40 in both	22	70.97%	100.00%				22	68.75%
eyes		•			•			
2 Correctable to 20/70 in one	9	29.03%	100.00%				9	28.13%
eye, may be blind in other								
3 Correctable to 20/200 in one				1	100.00%	100.00%	1	3.13%
eye, may be blind in other								
Total Reported	31	100%	96.88%	1	100%	3.13%	32	100.0%

Not Reported	6	0	6
Grand Total	37	1	38

Mode	(most frequent)	1 Correctable to 20/40 in both		
		eyes	one eye, may be blind in	20/40 in both eyes
			other	

Page 37

Under Death Sentence

Produced for **General Distribution**

PULHESDWIT medical scale - 'S' pSychiatric

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'S' pSychiatric	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 No impairment or disorders	26	78.79%	100.00%				26	76.47%
2 Stable, or in remission, or	6	18.18%	85.71%	1	100.00%	14.29%	7	20.59%
mild impairment or retardation								
3 Requires moderate inpatient	1	3.03%	100.00%				1	2.94%
treatment								
Total Reported	33	100%	97.06%	1	100%	2.94%	34	100%

Not Reported	4	0	4
Grand Total	37	1	38

Mode	(most frequent)	1 No impairment or disorders	2 Stable, or in remission,	1 No impairment or
			or mild impairment or	disorders
			retardation	

Inmate Statistical Profile 01-NOV-23

Under Death Sentence

Produced for **General Distribution**

Page 38

PULHESDWIT medical scale - 'D' dental

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'D' Dental	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Minimal routine dental health	25	83.33%	96.15%	1	100.00%	3.85%	26	83.87%
needs								
2 Moderate cavities and/or gum	5	16.67%	100.00%				5	16.13%
disease	•	•		•	•		•	
Total Reported	30	100%	96.77%	1	100%	3.23%	31	100%

Not Reported	7	0	7
Grand Total	37	1	38

Mode (most frequent) 1 Minimal routine dent health needs	1 Minimal routine dental health needs	1 Minimal routine dental health needs
---	--	---

Produced for **General Distribution**

Page 39

PULHESDWIT medical scale - 'W' work ability

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
'W' work ability	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Unrestricted work or activity	23	74.19%	95.83%	1	100.00%	4.17%	24	75.00%
2 Minor restrictions on type of	8	25.81%	100.00%				8	25.00%
work								
Total Reported	31	100%	96.88%	1	100%	3.13%	32	100%

Not Reported	6	0	6
Grand Total	37	1	38

Mode (most frequent)	1 Unrestricted work or activity	1 Unrestricted work or activity	1 Unrestricted work or activity

Produced for **General Distribution**

Page 40

PULHESDWIT medical scale - 'I' impairment

COL % - percent each COUNT is of its particular column

1 No impairments or 31 100.00% 96.88% 1 100.00% 3.13% 32 100.00 disabilities			Male			Female		To	tal
disabilities	'I' Impairment	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Total Reported 31 100% 96.88% 1 100% 3.13% 32 100	•	31	100.00%	96.88%	1	100.00%	3.13%	32	100.00%
10070 000070	Total Reported	31	100%	96.88%	1	100%	3.13%	32	100%

Not Reported	6	0	6
Grand Total	37	1	38

Mode (most frequent)	1 No impairments or disabilities	1 No impairments or disabilities	1 No impairments or disabilities
----------------------	----------------------------------	----------------------------------	----------------------------------

Page 41

Under Death Sentence

Produced fo General Distribution

PULHESDWIT medical scale - 'T' transportability

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
'T' Transportability	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Can be transported in any ordinary approved vehicle	31	100.00%	96.88%	1	100.00%	3.13%	32	100.00%
Total Reported	31	100%	96.88%	1	100%	3.13%	32	100%

Not Reported	6	0	6
Grand Total	37	1	38

Mode (most frequent)	1 Can be transported in any ordinary approved vehicle	ordinary approved vehicle	
----------------------	---	---------------------------	--

Inmate Statistical Profile 01-NOV-23 Page 42

Under Death Sentence

Produced for **General Distribution**

Number of prior Georgia incarcerations

COL % - percent each COUNT is of its particular column

		Male			Female		To	tal
Num of Prior GA Incarcerations	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
0	24	64.86%	96.00%	1	100.00%	4.00%	25	65.79%
1	6	16.22%	100.00%				6	15.79%
2	5	13.51%	100.00%				5	13.16%
3	1	2.70%	100.00%				1	2.63%
More Than 5	1	2.70%	100.00%				1	2.63%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mean (average)	.68		.66
Median (middle)	0	0	0
Mode (most frequent)	0	0	0

Inmate Statistical Profile 01-NOV-23 Page 43

Under Death Sentence

Produced for **General Distribution**

Prison sentence in years

COL % - percent each COUNT is of its particular column

ROW % - percent each COUNT is of its particular row

		Male			Female		Т	otal
Prison Sentence In Years	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Death	37	100.00%	97.37%	1	100.00%	2.63%	38	100.00%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Determinate (numeric) sentences only

Mann (accesses)		
Mean (average)		
mount (average)		

All sentences (including determinate), with life, life without parole, and death sentences figured at 45 years

Mean (average)	45	45

Georgia Dept of Corrections Inmate Statistical Profile 01-NOV-23 Page 44

Under Death Sentence

Produced for **General Distribution**

Primary offense, broken out into felonies vs misdemeanors

COL % - percent each COUNT is of its particular column

		Male			Female		То	tal
Felonies and Misdemeanors	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Felonies	36	100.00%	97.30%	1	100.00%	2.70%	37	100.00%
Total Reported	36	100%	97.3%	1	100%	2.7%	37	100%

Not Reported	1	0	1
Grand Total	37	36	38

Mode (most frequent)	Felonies	Felonies	Felonies

Georgia Dept of Corrections Inmate

Inmate Statistical Profile 01-NOV-23 Page 45

Under Death Sentence

Produced for **General Distribution**

Primary offense, broken out into six broad crime categories

COL % - percent each COUNT is of its particular column

	Male				Female	Total		
Crime Categories	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
1 Violent	37	100.00%	97.37%	1	100.00%	2.63%	38	100.00%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mode (most frequent)	Violent	Violent	Violent

Inmate Statistical Profile 01-NOV-23 Page 46

Under Death Sentence

Produced for **General Distribution**

Primary offense, detailed offense code

COL % - percent each COUNT is of its particular column

	Male				Female	Total		
Primary Offense	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Kidnapping (1311)	1	2.70%	100.00%				1	2.63%
Murder (1101)	36	97.30%	97.30%	1	100.00%	2.70%	37	97.37%
Total Rported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mode (most frequent)	1101 Murder	1101 Murder	1101 Murder

Inmate Statistical Profile 01-NOV-23 Page 47

Under Death Sentence

Produced for **General Distribution**

County of conviction of primary offense

COL % - percent each COUNT is of its particular column

			Male			Female		То	tal
County of Con	viction	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
000 Unknov	vn	1	2.70%	100.00%				1	2.63%
001 Appling	County	1	2.70%	100.00%				1	2.63%
005 Baldwir	n County	2	5.41%	100.00%				2	5.26%
024 Charlto	n County	1	2.70%	100.00%				1	2.63%
025 Chatha	m County	4	10.81%	100.00%				4	10.53%
031 Clayton	County	1	2.70%	100.00%				1	2.63%
033 Cobb C	ounty	4	10.81%	100.00%				4	10.53%
034 Coffee	County	1	2.70%	100.00%				1	2.63%
052 Elbert 0	County	1	2.70%	100.00%				1	2.63%
057 Floyd C	ounty	1	2.70%	100.00%				1	2.63%
060 Fulton	County	5	13.51%	100.00%				5	13.16%
063 Glynn (1	2.70%	100.00%				1	2.63%
064 Gordon	County	1	2.70%	100.00%				1	2.63%
067 Gwinne	ett County	1	2.70%	50.00%	1	100.00%	50.00%	2	5.26%
069 Hall Co		1	2.70%	100.00%				1	2.63%
075 Henry (County	1	2.70%	100.00%				1	2.63%
081 Jeffers	on County	1	2.70%	100.00%				1	2.63%
106 Muscog	gee County	1	2.70%	100.00%				1	2.63%
107 Newton	County	1	2.70%	100.00%				1	2.63%
110 Pauldin	g County	1	2.70%	100.00%				1	2.63%
121 Richmo	ond County	2	5.41%	100.00%				2	5.26%
126 Spaldin	g County	2	5.41%	100.00%				2	5.26%
138 Toomb	s County	1	2.70%	100.00%				1	2.63%
147 Walton	County	1	2.70%	100.00%				1	2.63%
Total Rported		37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mode (most frequent)	Fulton County	Gwinnett County	Fulton County
----------------------	---------------	-----------------	---------------

Inmate Statistical Profile 01-NOV-23 Page 48

Under Death Sentence

Produced for **General Distribution**

Circuit of conviction of primary offense

COL % - percent each COUNT is of its particular column

			Male			Female		То	tal
Circu	it of Conviction	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
2	Alcovy Circuit	2	5.56%	100.00%				2	5.41%
3	Atlanta Circuit	5	13.89%	100.00%				5	13.51%
5	Augusta Circuit	2	5.56%	100.00%				2	5.41%
7	Brunswick Circuit	2	5.56%	100.00%				2	5.41%
8	Chattahoochee Circuit	1	2.78%	100.00%				1	2.70%
9	Cherokee Circuit	1	2.78%	100.00%				1	2.70%
10	Clayton Circuit	1	2.78%	100.00%				1	2.70%
11	Cobb Circuit	4	11.11%	100.00%				4	10.81%
17	Eastern Circuit	4	11.11%	100.00%				4	10.81%
18	Flint Circuit	1	2.78%	100.00%				1	2.70%
19	Griffin Circuit	2	5.56%	100.00%				2	5.41%
20	Gwinnett Circuit	1	2.78%	50.00%	1	100.00%	50.00%	2	5.41%
24	Middle Circuit	2	5.56%	100.00%				2	5.41%
26	Northeastern Circuit	1	2.78%	100.00%				1	2.70%
27	Northern Circuit	1	2.78%	100.00%				1	2.70%
28	Ocmulgee Circuit	2	5.56%	100.00%				2	5.41%
33	Rome Circuit	1	2.78%	100.00%				1	2.70%
41	Waycross Circuit	2	5.56%	100.00%				2	5.41%
49	Paulding Circuit	1	2.78%	100.00%				1	2.70%
Total	Rported	36	100%	97.3%	1	100%	2.7%	37	100%
Not R	eported	I	1			0			1
	Total		37 1		3	38			
Mode	(most frequent)	/	Atlanta			Gwinnett	I	Atla	anta

Produced for **General Distribution**

Years served (jail + prison) in this incarceration

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Years Served	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
9 to 9.99 years	1	2.70%	100.00%				1	2.63%
10 to 10.99 years	1	2.70%	50.00%	1	100.00%	50.00%	2	5.26%
11 to 11.99 years	2	5.41%	100.00%				2	5.26%
16 to 16.99 years	2	5.41%	100.00%				2	5.26%
17 to 17.99 years	1	2.70%	100.00%				1	2.63%
18 to 18.99 years	1	2.70%	100.00%				1	2.63%
19 to 19.99 years	2	5.41%	100.00%				2	5.26%
20 to 20.99 years	2	5.41%	100.00%				2	5.26%
21 to 21.99 years	3	8.11%	100.00%				3	7.89%
23 to 23.99 years	2	5.41%	100.00%				2	5.26%
24 to 24.99 years	2	5.41%	100.00%				2	5.26%
25 to 25.99 years	1	2.70%	100.00%				1	2.63%
27 to 27.99 years	3	8.11%	100.00%				3	7.89%
28 to 28.99 years	3	8.11%	100.00%				3	7.89%
29 to 29.99 years	3	8.11%	100.00%				3	7.89%
Thirty + years	8	21.62%	100.00%				8	21.05%
Total Reported	37	100%	97.37%	1	100%	2.63%	38	100%

Not Reported	0	0	0
Grand Total	37	1	38

Mean (average)	25.04	10	24.65
Median (middle)	24.57	10	24.37
Mode (most frequent)	21 to 21.99 years	10 to 10.99 years	21 to 21.99 years

Inmate Statistical Profile 01-NOV-23 Page 50

Under Death Sentence

Produced for **General Distribution**

Results of most recent HIV tests

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
HIV Test Results	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Negative	33	100.00%	97.06%	1	100.00%	2.94%	34	100.00%
Total Reported	33	100%	97.06%	1	100%	2.94%	34	100%

Not Reported	4	0	4
Grand Total	37	1	38

Inmate Statistical Profile 01-NOV-23 Page 51

Under Death Sentence

Produced for **General Distribution**

Results of most recent tuberculosis test

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Tuberculosis Test Results	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Positive on current test	9	25.00%	100.00%				9	24.32%
Negative	27	75.00%	96.43%	1	100.00%	3.57%	28	75.68%
Total Reported	36	100%	97.30%	1	100%	2.70%	37	100%

Not Reported	1	0	1
Grand Total	37	1	38

Inmate Statistical Profile 01-NOV-23 Page 52

Under Death Sentence

Produced for **General Distribution**

Results of most recent syphilis test

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Syphilis Test Results	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Negative	26	100.00%	100.00%				26	100.00%
Total Reported	26	100%	100.00%		%	0.00%	26	100%

Not Reported	11	1	12
Grand Total	37	1	38

Produced for **General Distribution**

Results of most recent Hepatitis-C test

COL % - percent each COUNT is of its particular column

		Male			Female		To	otal
Hepatitis-C Test Results	Count	Col %	Row %	Count	Col %	Row %	Total	Col %
Total Reported		%	0.00%		%	0.00%		%
Not Reported		37			1			38